&2 CURT

Safety glasses should be

11375 INSTALLATION INSTRUCTIONS A 72222525’25,’;",5502”50’29
(YEARS: 2014-PRESENT |  MAKE: SCION ] (moDEL: tc ) (sTYLE: couPE )

//// \WARNING: NEVER EXCEED YOUR VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY \\\\

WEIGHT CARRYING:

TRAILER WEIGHT: 2,000 LBS.

TONGUE WEIGHT:

200 LBS.

PRO INSTALL TIME:
NOVICE INSTALL TIME:

15 MIN.
30 MIN.
IF YOU ARE HESITANT TO UNDERTAKE

THIS TASK ON YOUR OWN, CONTACT AN AUTHORIZED
CURT INSTALLER FOR ADDITIONAL ASSISTANCE.

INSTALLATION REQUIRES:

INSTALLATION TIPS:

1. BEFORE YOU BEGIN INSTALLATION, READ ALL
INSTRUCTIONS THOROUGHLY.

2. TO EASE INSTALLATION, 2 PEOPLE MAY BE
REQUIRED.

3. USING PROPER TOOLS WILL GREATLY IMPROVE
THE QUALITY OF THE INSTALL AND REDUCE THE
TIME REQUIRED.

S | @B 17mm
-u/ | 19mm
@& TORQUE |
RATCHET 1 WRENCH | SOCKET
. — \
SOCKET SAFETY
EXTENSION | GLASSES

\
Y

A

N

A

LEVEL OF DIFFICULTY:

EASY

MODERATE CHALLENGING

- NO DRILLING REQUIRED

Y

- REMOVE EXISTING TOW
LOOP

°

Py

L PART REMOVAL )
4 Y

<
AN

Y
<

<
AN

Y
M

<
A

) MAKE SURE YOUR HITCH MATCHES

VEHICLE PHOTO:

REPRESENTATIVE PHOTO

HITCH ILLUSTRATION:




INSTALLATION WALKTHROUGH:

%

Parts List
ITEM| QTY | PART NUMBER DESCRIPTION
1 4 M12-1.25 x 30mm HEX BOLT

1/2"

CONICAL TOOTHED WASHER

DESIGNED FOR USE WITH
BALL MOUNT # D-20 / 45520

EURO MOUNT OPTION AVAILABLE
# 45561 (1-7/8" BALL) & 45562 (2" BALL)

v—

%

<<
N

(" CONICAL TOOTHED WASHER [
ORIENTATION DIAGRAM

VEHICLE FRAME

|\

.

CONICAL TOOTHED —
WASHER &/HEX BOLT

HITCH SIDE
PLATE

J

WELDNUT CLEANING

?

To remove debris from weldnuts
in frame, spray lubricant or
compressed air into hole.
For heavy debris, use a
small wire brush.

(Be careful not to damage threads).

-

1. Remove existing bolts from tow loop from passenger side
of vehicle. Return tow loop and hardware vehicle to owner.

B — 0200 0 0 |
¥ I T T e B A . 0 0 00000 =
Rl TR L - e e . 0 O
=——em~—‘r B . A . 0 0 =
. . 4 WA B e . ==
I, — U L ., - =
e . . .y — 'l P = % '

|
|\

_!
A

—

<_

N

2. Raise hitch into position and align the holes in the side
plates with the weldnuts in the frame rails. Secure the
hitch using M12-1.25 x 30mm hex bolts and 1/2" conical
toothed washers.




INSTALLATION WALKTHROUGH:

s

3. Torque all M12 hardware to 86 ft-Ibs.

INSTALLATION COMPLETE




(11375 SCION tC

J/

(GROSS LOAD CAPACITY WHEN USED AS AWEIGHT CARRYING HITCH: 2,000 LBS. TRAILER WEIGHT & 200 LBS. TONGUE WEIGHT.\

***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY . ***
WARNING: ALL NON-TRAILER LOADS APPLIED TO THIS PRODUCT MUST BE SUPPORTED BY 18050 STABILIZING STRAPS.
** FAILURE TO PROPERLY SUPPORT NON-TRAILER LOADS WILL VOID PRODUCT WARRANTY**

Parts List
ITEM|QTY| PART NUMBER DESCRIPTION
1 | 4 |M12-1.25x 30mm | HEX BOLT EXISTING WELDNUTS
2 | 4 |u2 CONICAL TOOTHED WASHER (BOTH SIDES)
7~ \ PASSENGER SIDE
CONICAL TOOTHED WASHER FRAME RAIL
ORIENTATION DIAGRAM
EXISTING TOW LOOP
VEHICLE FRAME =~ HITP?_:TSéDE AND HARDWARE
CONI%%.SLOEORTHED/ a/. EX BOLT
\. v
J
DESIGNED FOR USE WITH
BALL MOUNT # D-20 / 45520
8o EURO MOUNT OPTION AVAILABLE
# 45561 (1-7/8" BALL) & 45562 (2" BALL)
RATCHET
TORQUE WRENCH /FRAME RAIL
17mm SOCKET
19mm SOCKET =
8" SOCKET EXTENSION
~
HITCH WEIGHT: 23 LBS. WELDNUT CLEANING FASCIA
INSTALL TIME v _ o
PROFESSIONAL: 15 MINUTES = i [ﬁ?gvmeeé:g:lasyllrfgslgﬁsg|L'“S O — ~
NOVICE (DIY): _30 MINUTES compressed air into hole. | @)
For heavy debris, use a
INSTALL NOTES: small wire brush =
- NO DRILLING REQUIRED (Be careful not to damage threads).
- REMOVE EXISTING TOW LOOP INSTALLED HITCH POSITION
INSTALLATION STEPS )
1. Remove existing bolts from tow loop from passenger side of vehicle.
Return tow loop and hardware vehicle to owner.
2. Raise hitch into position and align the holes in the side plates with the weldnuts in the frame rails.
Secure the hitch using M12-1.25 x 30mm hex bolts and 1/2" conical toothed washers.
3. Torque all M12 hardware to 86 ft-Ibs.
PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
\_ ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND. )

\Find more CURT products on our website. Learn more about trailer hitches and towing we have. )



https://www.carid.com/curt/
https://www.carid.com/trailer-hitches.html

